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u(t)= Asinw t —

y(t)= Bsin(w t+ §) _
IB/A] 0
IB/A| ®

@)  t[rad] u(t)
A w

U(jot)= Ael -
U(jat) u(t)
Y(jot)= Bl -

@ ¥{je) = B gllnte ﬁy(f}=ﬂmn(mz+¢}

....................................... o

Uljo) -4 ™ O \ =

Ay
!

\‘um =A sin ot



3).(4)
U(jot) Y(jat) w

U Y W
U(jo),Y(jo)
¥ ( jo)
¢
= jaw)

U(jo). Y(jo)  ult), y(t) U(s),Y(s) s=at
U(jo)= A-1= AZ0 —
Y(jw)=Be! =B/¢ —

G(s) s jo G(jo)
j=+-1 G(jo) (6.6
.\ U(jo) B, B L
Gljo) -y~ 2o - 2 24
t w (7)
G(jo) G(jw)=(B/A ¢
0 e!’ =cosf + jsiné @)

G(jw):%cos¢+j§sin¢ —
G(jo)
G(jo) = &lw)+n(w)

G(iw) = &(@) +nle)

¢=4G(ja))=Tan’1M

()
£G(j)
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T1+Ts’
T K S=|w
. K
G =
(jo) 1+ joT
. K
G(jo) =

Step
Step ®,i=1,---,m
G,
Step G,¢,i=1,---.m
R =G cosg , |, =G sing

Step
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(11) (12),(15)
=R+ |l

i:]_’...,m

1+ jo, T
o,,R,l, Step
(16)
lloT+K-R =0, i=1,---;m
RoT+I1,=0, i=1,---,m
a7) @a) T K
Ax=b

Lo 1

w[rad/sec]
20l0g,,[B/ A[dB] ¢[deg]

[ 1 T
A= m@Pm emzmxz’X:{K}eiRz,b: Rm

2
e R

B/A
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CAD

CR C =4.7uF ,R=2.6kQ
CONTEC LABODOCTOR 0]

CR
i(t)
u(t) = R-i(t) + y(t)
YO=<[iodr  <i0=Cy
= u(t) = RC- y(t) + y(t)
= U@ =Lum]=Re{stly®m]- y(0)f+ Ly(®)]
=RCs-Y(s)+Y(s)
= (RCs+1)Y(s)
L[y(®)]=sL[y®)]- y(0) Lly®]=Y(s) J
L[ ]

Y(s) 1

(9= U(s) RCs+1
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CAD T K

T=0.01
24
K=2
(24)
p.5 (13),(14) w [rad] |B/A] ¢ [deg]
w 20logio| B/A]
p.9
0 0
w [rad/s]] B/A! ts] to[s]| tals]=ti-t, | @ [rad]=w tq
1 30 1.91541 1.15198 116131 -0.00933 -0.27990
2 50 1.78882 0.565605 0.574405 -0.008800 ] -0.440000
3 70 1.63832 0.493715 0.502287 -0.008572 | -0.600040
4 80 1.56185 0.431996 0.439996 -0.008000 ] -0.640000
5 100 1.41425 0.345604 0.353204 -0.007600 ] -0.760000
6 120 1.28044 0.288002 0.295002 -0.007000 ] -0.840000
w [rad/s] | B/A] ¢ [rad] (13),(14)
T K
T K
T =0.009527 o5
K =1.967357
(24) p.10 p.12
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p.7

p.7
1
(23)= G(s)= ~Ceil
K
1) = G(s)= LiTs

(11) (24)

{

T=RC=26x10°x4.7x10"° = 0.0122

K=1

(23)

p.5  (11)

11 p.13

w [rad/s]| !'B/A! o® [rad]
1 18.8 0.971 -0.233
2 31.2 0.928 -0.336
3 437 0.887 -0.473
4 56.2 0.806 -0.563
5 74.8 0.747 -0.692
6 93.6 0.661 -0.794
7 113 0.605 -0.905
8 138 0.524 -1.04
T K
T =0.0116
K =0.984
p.14 13 p.15

12

14

12

(26)
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p.9 p.10

w [rad/s] 20logi0] B/A|[dB]
w 0 6
p.9 p.11 w - O[rad/s]
@ -0[deg] w o [rad/s] ¢ —-90[deg]=-1t /2[rad]
(13).(14) (24)
lim| 20lo B lim| 20lo 2 = 20log,, 2=6.02--- [dB]
w—>+0 Y10 A 040 Y10 [1+ (001(0)2 B Y10 2= 0.

Iim(ZOIog10

W—>0

ED: lim| 20l0g,, ———2— | = 20l0g,, 0= —o [dB]
A oo 1+(0.010)’

lim ¢ = lim |- Tan(0.01)| = ~Tan0= 0  [deg]

w—>+0 >+

lim ¢ = lim[- Tan™(0.01)] = —Tan 0 = -7 =90 [deg]

W—>0 W—>0

10 w 1000 [rad/s]

w w —+0 [rad/s] w —o [rad/s]
10 w 1000 [rad/s]

20logio| B/A| (0}
Iim(ZOIogm ED ~ lim| 20l0g,, ! - 20l0g,,1=0 [dB]
0—>+0l A 0—>+0) 1+ (001226!))2

ED: lim| 20log,, ! = 20log,, 0= -0 [dB]
A oo 1+(0.01220)?

lim ¢ = lim |- Tan(0.01220)| = ~Tan 0= 0  [deg]

0—>+0

W—>0

Iim(ZOIog10

lim ¢ = lim[- Tan"(0.01220))] = ~Tan "0 = —% =90 [deg]

p.13 15 11, 12, 13 14
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P
/ r-‘ F i
i ol . [ -
15(a) B B’ B>PB’
B’ (b)
() y = cosat t,/2
y= Co{a) : %j =0s0.02
w

y(t)
cosO-cos0.02  1-0.999800---
cosO
B B’
B'=0.9998B

=0.0002-~0.02 ]

A=1
L (1-0.0002 B
A A

16
.
¢ =wt,=olty,* t,)=¢+004 [rad]
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80,100,120

/A
7 |
— 1
f‘_a: (]
16
(28),(29)
'B/A!
w [rad/s]
1 30 1.91565 1.91541 | 0.00038 0.00024
2 50 1.78885 1.78882 0.00036 0.00003
3 70 1.63846 1.63832 0.00033 0.00014
4 80 156174 1.56185 0.00031 -0.00011
5 100 1.41421 1.41425 | 0.00028 -0.00004
6 120 1.28037 1.28044 0.00026 -0.00007
@ [deg]
w [rad/s]
1 30 -16.6992 | -16.0371 2.29183 -0.6622
2 50 -26.5651 | -25.2101 2.29183 -1.3549
3 70 -34.9920 | -34.3798 2.29183 -0.6123
4 80 -38.6598 | -36.6693 2.29183 -1.9905
5 100 -45.0000 | -43.5448 2.29183 -1.4552
6 120 -50.1944 | -48.1285 2.29183 -2.0660
B B

I+
(&)
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I+
ol

'B/A! @ [deq]
w [rad/s] [%] [%]
1 18.8 0.975 0.971 0.380 -12.9 -13.3 -3.24
2 31.2 0.935 0.928 0.710 -20.8 -19.3 8.25
3 437 0.882 0.887 -0.516 -28.1 -27.1 3.55
4 56.2 0.825 0.806 2.33 -344 -32.3 6.75
5 74.8 0.739 0.747 -1.12 -42.4 -39.6 6.89
6 93.6 0.659 0.661 -0.331 -48.8 -455 7.25
7 113 0.587 0.605 -2.95 -54.0 -51.9 4.23
8 138 0.511 0.524 -2.54 -59.3 -59.6 -0.498
3 3
T K
X X
n
1 . -\ 1
S = X —X|] =—Ss 30
" \/n(n—l)iz_ll( ! ) Jn
p.20 174
sn s//5 (30)
Sn S ]/\/ﬁ
184 18
Sn 10
Sn (30)
10
10
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(11)
y(t) Y(s)
Y(s)=U(s)-G(s)
1) u(t)
u(t) = Asinat
U(s) = Lu)]= Aj:sjn ot-e 3 dt
=gl —e

1)

_A _r g siokgy — J': g (stion dt}

2j b

1 1

2j|s—-jo s+jo

A S+ jw

|

S—jw

w
ZA.sz+a)2
G(9) (11)
K
G(S)_1+Ts
Y(s)
w K
Y(s)=A: .
(s) s’ +w? 1+Ts
Y(s)
Y(s) = AKO{ R B
1+Ts s+ jo s—jw

C, C,,Cy

1
e e I
ST

21

21| (5= jols+ jo) {5+ jolsjo)

1

|

T2

- YT + 0° T (Tow)



1
@+Ts)s+ jo)s— jo)

c,=|(s+jo)
— i
1
1-joTY-2jw)

11

T 20 To+]

1 To-j

20 1+(To)

1 To+]

& T 20 1+ (Ta)

AKoT 4| 1 1 Ao  [oT—j of+]
t) = Lt - Lt +
Yo 1+(aT) [SH/T} 20 1+(Tw) [s+ jo s—jw}
AKoT -+ 1 AK N N
:]--i-(ai{_)l_)z'e-r_2‘1+(_|_a))2[(a)T_J)e]t+(a)T+J)e]t]
AKoT -+ 1 AK
1+(@T} 2 1+(Tw)
AKoT + 1  AK
1+ (oT)? 2 1+ (To)
AKoT -+ AK
:1 ( 5 e T 4+ 5
+(oT) 1+ (Tw)
AKoT AK
:1 ( 5 .eT + 5
+(aT) 1+ (Tw)
t
= AKCOTZ et 4K sin(wt + ¢)
1+(aT) 1+ (Tw)

[(&T - j)cosawt — jsinat)+ (T + j)coswt + jsinawt)]

[26T coswt — 2sin wt]

(sinwt — T cosot)

12 +(wT)* -sin(wt + @)

(11) (1)

5.1

5.2

22



. AKeT < : AK
I eT=0 lim sin(wt +¢)=0
& 1+ (T ) o 1+ (To)
t—>o0
t—> o
AR gin(ot + g) = 2K
1+ (Tw) 1+ (To)
¢=-Tan*(wT)
(13),(14)
CLR
5.1
R L
= C - =
O O
5.1 CLR
i()

u(t) = R-i(t) + L-i(t) + y(t)
y(t) = é [li(z)dr

u(t), y(v),i(t)
Luwm]=u(s Liym]l=Y() Liwv]=1(9

(5.3)
U(s) = R-1(s)+L{sl(s) —i(0)} +Y(s)

(53) = { 1
Y(s)_&l(s)

i(0)=0
U(s)=(R+Ls)-1(s)+Y(s)
{I (s)=Cs-Y(9)

23
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I(s)
= U(s)=Y(s)-{(R+Ls)Cs}

Yo _ 1

(s = U(s) Cs(R+Ls) >4
a)Z
G(s) = n 5.5
) s>+ 20w, s+ w,’
1G(w)I G(jw)
(5.5) G=jw
Glio) - o,
(Jo) (jw)2+2j§wwn+wn2
1
- —(@e,f +2i¢ vjo,+1
- 1 1—(ﬁj _2jc-2
i@/, F [ +(@¢0/0,)[ Lo o,
Y -0
a)n
. 1 . .
G(jo) = 1-Q%-2jc-Q
(jo) (1_Q2)2+(2§.Q)2( i¢-0)
G(jw)| = 1-0°) +(2¢ - Q)
| (ja))| (1_92)24_(24,.(2)2 \/( ) +( ¢ )
_ 21 5.6
(1-Q?f +(2¢-Q)
o o (-20-0) (200}
/G(jw) =argG(jw) =Tan (1_92 ]_ Tan (—1_sz 5.7
-2
-

24



(5.5) (5.6)

5.2,
20
-
10 e
j f: o
=l
A [ =5
= o
g P
" e L
-3
— 2
1
S— T L2 | =i f arg)®
30
i1 0 o
TEHLTE L PR o g
5.2
. L7 =11
%‘%:——-“‘ s
N
— g >.
ijlh)
E o
o
—12 \
K
_. B
sy — "{: 1 ] -\"""--.,_‘E-;
IR e/ we— (o wa)® \HE'— =S
e Y] 05 1

ML L AR /s
5.3
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gy = 20l0g,, 1 = —10log,, {0 + 2222 —1)0° +1} (5.8)
Ja-02) +(2¢-Q)
(200
— _Tan 57
p=-Ton s 25 (57)
O [dB] ¢ [deg] 4
Q gdB Q
(5.8) Qf +2(202-1)0% +1~1
0s ~—10logl=0
Q (5.8) Q' +2(22-102 +1~ Q*
Je ~—10l0ogQ* = -40logQ
Q Oge O[dB] 40[dB/dec]
0 1
4 e Q Q 1
Jas
4 Qs
Ogs dg,/d2=0 (5.8) Q 0
Q> =1-2,7
94s Q Qm
Q=Q, =1-2¢7 5.9
Qm
1-2£%>0
0<d < \E
Z  1/J2~0707 (5.9)
(5.8) Y4 Ydem
Jeem = —10l09,, {4§(1_ 52)}
5.2
{ 05 (Q,,, 9upn)=(0.707, 1.25)
Z 01 (Q,,, 9un)=(0.990, 14.0)
- 90[deq]
- 180[deq]
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G(3) x1)  x(t) X(s)
y®) vy Y(s) Y(s)

{Y(s) =G(s)- X(9)
y() = L*[Y(s)]
y(t) X(t)

54

T ——IEE—-— i & m

[

54

11)

We G(s)= 1+KT -

u(t) s

Y(g) = G(s)- X(s)
K
~ S[1+5T)
K K

:Z_ s+UT

yt) =K(1-e"")
y(t) 5.5
y(t) K -
y() K 1/e=63[%]

y() 0
T=(K/Thk y=K

T +5
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(5.10) T

L

[

2003 p.35 43
2001 75 88
() 1998 p.123,124
2000
2000 p.54 56
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